(1/1)

P

o F O
Bo & - A% 45 50 on B2 10 B R 5
104-8555 BAUH XA\ TH 1 TH 6% 1 &
HEiH 03—4413—1134 (&)
FAX 03—-3552—-6107

JPI 752150 79 2VH
Ti#1 8 3 9R fFx/IMhiiftt v 3

ok | Wl | KK | A | S | AVE L Fk o
® | | e | s | e | eES / 20 fL ﬂu;{”b
p, | o, | by | Db kN) (Nm) (N+m) v
1/2 17 23 33 47 12.9 8.2 1/2-13UNC 9.1 M14 X2
3/4 23 29 41 57 19.4 12.3 1/2-13UNC 13.6 M14 X2
1 30 36 48 66 23.3 14.8 1/2-13UNC 16.3 M14 X2
1-1/4 41 47 60 76 32.1 20.4 1/2-13UNC 22.5 M14 X2
1-1/2 45 53 68 85 41.9 26.6 1/2-13UNC 29.3 M14 X2
2 58 66 82 104 54.7 43.4 5/8-11UNC 43.7 M16 X2
2:1/2 71 81 97 123 65.8 52.2 5/8-11UNC 52.6 M16X2
3 91 101 117 136 80.5 63.9 5/8-11UNC 64.4 M16 X2
3-1/2 100 112 130 162 101 39.9 5/8-11UNC 40.2 M16 X2
4 115 127 146 174 120 47.5 5/8-11UNC 47.9 M16 X2
5 141 155 175 196 152 72.6 3/4-10UNC 76.2 M20 X 2.5
6 170 186 206 222 181 86.2 3/4-10UNC 90.5 M20 X 2.5
8 220 240 260 279 231 110 3/4-10UNC 115 M20 X 2.5
10 271 290 314 339 335 124 7/8-9UNC 134 M24 X 3
12 321 347 371 409 425 158 7/8-9UNC 170 M24 X 3
14 351 377 403 450 500 212 1-8UNC 225 M27 X 3
16 402 424 460 514 735 233 1-8UNC 248 M27 X 3
18 465 487 523 549 840 300 1 1/8-8UN 315 M30 X3
20 514 534 574 606 1,023 292 1 1/8-8UN 307 M30 X 3
22 569 591 631 660 1,169 371 1 1/4-8UN 386 M33 X3
24 620 642 682 717 1,345 427 1 1/4-8UN 444 M33 X3

 fe /N AT Rf B M OV /NGRS SV 7 13, A > M 29. 4 N/mm? 2 B2 72 DI B 72 i 5,
KON JIS B 8265 [CHESN7-Wm,, Wm, (m=3.00, y=58.8 N/mm>, P=3.0 MPa) ® 9
H, RO RXUVWHEBELRIMZELTEY £,

ED  EEOMME, EREEICLEEREEZE LA SHEAL TSN,
HE2)  EE RV, AU RE 2 0.2 ELTEIHLTEY £9,

P R G-V-1 95411& & B P
YERAEH H 2012 4 10 A 16 H 2 ¥ K 7=

1

il

=k
NI
\

T W

Wi

2

k=

—FPABRSY




